@
U BclHJOOSH

WELDING TORCHES
[CHA TS L —

o S s ) Subig o glg il gl cuulio -

oo UL gy lasil ey LB L LT oo Laiul -
Sle cuaSbddglolgo jloolatulg cuulio o h-b
EN50078 gl 6o, loilisel b i g rlpbo -

Attention

Code

0.9Kg
S erwirril o Ly @ SBI5E3
160ACO: 0.6-1.0mm ﬁ slit/min S SB15E4
SB15E5

Attention

— A
3m 10 ft
4m 13 ft
5m 16.4 ft EURO

u219:_>~9,9



eatle

NO CODE FIG DESCRIPTION wlebd
————

1 BG1605 | ) D GASNOZZLE 100 Sz lga Uivgy dleds
5 MD610S ) CONTACT TIP1.0mm M6*25 M$ x P& o] ald JjU
MD608S CONTACT TIP0.8 mm M6*25 M9 x P 0. A 0l8 JjU

3 BG1601 D DIFFUSER 100 o 4id JjU bl
4 BG1600 / MIGTORCHHEAD 100 S Iga dinyS
5 BGOO10 = PLASTICBODY i g Syl aals
6 BX25 L= TRIGGER Suo 295 it
. BH15 e BEHJOOSH HANDLE KIT Uliggy i lga diwwo
BH10 ——— YELLOW HANDLE KIT 3)j S lga diaus

8 BG0020 m FRONTSPRING CABLE SUPPORT it lga diws Byh 4id
BG1573 CABLE ASSEMBLY 3m ol 100 Sislgm LS

9 BG1574 S CABLE ASSEMBLY 4m Spialt 106 it lgm ulS

BG1575 CABLE ASSEMBLY 5m God 100 Sis Igm JulS

10 BGOO51 BACKSPRING CABLE SUPPORT St g jgiloTwld 4ig

1 BA111 BACKBOXKIT S lgm jgigloTwld

BH40
BH42

- PLASTIC EURONUT S siwlly jiloT ,Sudio oje.0
METALEURONUT i U g loT LS og.0

13 BGO0O55 EURO CONNECTORAIR St g jgiloT

15 BO42 LINERNUT H8 iy oy0.0
BLUE STEELLINER 0.8-1.0 3.40 m &pio W o A-l.0 T 4id
BLUESTEELLINERO0.8-1.0 4.40 m Gyin F.Io o A-lo T 4id
BLUE STEELLINERO0.8-1.0 5.40 m Gpin B0 o A-lo (T4

GM340
16 GM440
GM540

17 BH20 HANDLE RING s Sy

18 BH30

—
14 BO41 =2 GAS ADAPTORPIN J5loT 15 bl
| —

BALL JOINT diws Jrado

by g Ubgyd jy wigiaso

T AL
1\ 4

SB25E SB36E SB 4000M BTIG18W CB150B ACCESSORY



WELDING TORCHES
SBS—bg >z

i Ao 9 S (6 Buiig 6l cuslio -
&) Suigz slad gogazobiso)lgesouogaids
UL 0y BlheilenblE b glulosla il -
U gl olgo jl oolaiwl g camlio Lorlib o
Gle enas

Slaoyloslinl Gub wows g ool b -
EN50078 gl

15 14 3

‘ '\‘Z '\‘O
<0 == e -

17

Attention

12Kg

40 —
% o= A g

bl 220aco. [orf . .. -
220A Mix mm 0.8-1.2 mm 12 lit /min ENS50078

Attention

— A
3m 10 ft
4'm 13 ft
5m 16.4 ft EURO




ubgaos [

NO CODE FIG DESCRIPTION wlehd

1 BG2405

GASNOZZLE Pifo Lugy dles

MD612 CONTACT TIP 1.2 mmM6*28 ecu Wgase MY*PA LEmm JjU

MD610 CONTACT TIP 1.0mmM6*28 ecu Lgama MY *PA Lomm JjU

2 MD608 CONTACT TIP0.8 mmM6*28ecu Igamo My*PA Amm JjU
MD610AL SE CONTACT TIP1.0mm M6*28al Posisog)l MY *PA Lomm JjU
MD612AL CONTACT TIP 1.2 mmM6*28al owisagl MY*PA LEmm JjU
MD610CR CONTACT TIP 1.0mmM6*28cr NopgyS My *PA Lomm JjU

3 BG2402 o CONTACT TIP SOCKET Pito U3 bl
4 BG2401 o PLASTIC DIFFUSER GSiwlly PIfo 1S Ui 5
BG2411 L) CERAMICDIFFUSER Sanlpn Pio S i 5

5 BG2400 §/ MIG TORCHHEAD Pio S lgm iy
6 BGOO10 = PLASTICBODY S lga Suiaully ialS
/ BX25 < TRIGGER SR it
8 BH10 —— YELLOW HANDLE KIT 3 i I ds
9 BG0020 R FRONTSPRING CABLE SUPPORT it I diwo By 48
10 BGOO51 [ BACK SPRING CABLE SUPPORT S lga jgiloTl8 i6
BG2573 CABLE ASSEMBLY 3m ol PEo SibIgm IS

n BG2574 CABLE ASSEMBLY 4m okt Pifo S lgam JulS
BG2575 CABLE ASSEMBLY 5m ol Plo Sub lgm ulS

12 BA111 - BACKBOXKIT St lgm jgigloT LlB
13 BH40 PLASTIC EURONUT oSl jgiloT S opg.0
BH42 METALEURONUT i U1 g loT LS og.0

14 BGO055 c@,——_ EURO CONNECTOR AR S lgm ygiloT
15 BO41 ] GAS ADAPTOR PIN J9laTj8 byl
16 BO42 (1= LINERNUT 18 iy opg.0
GM340 REDSTEELLINER 0.8-1.2 3.40m i P.o 0. A-LP joy8 8

w GM&40 e REDSTEELLINER 0.8-1.24.40m 6pin F.0 0. A-LF joy8 4i6
GM540 REDSTEELLINER 0.8-1.2 5.40m 650 0.0 0. A-LLP joyd 1i6

18 BH20 g HANDLE RING o Sy
9 BH30 % BALL JOINT s oo

by g ubgyd jy wigiaso
6. :“;. (
b
L 3
-
SB15E SB25E SB36E SB 4000M BTIG18W CB150B



WELDING TORCHES
GBSy > zjg

S oy g S 6)niiig > gl 6l wlio -
U @ UL iy Sl aaulB b ylaa o0 L sl -

e S gl olgo l oolibal g aslio 1 o
EN50078 1ybgyl sl lailisel b casai g oIy -

] LN
x4
&
i 15 14 3
|
17
Attention Attention
Code — E
1.25 Kg .
ST e e @ SB25E3 3m  10ft
2 B 4 13 ft
gggﬁﬁni 0.8-1.2mm E 10 lit /min ENS50078 SBZSEL" m
SB25E5 5m 164 ft EURO




reatle

NO CODE FIG DESCRIPTION wlehd
"1 . .
1 BG2505 [ [ GASNOZZLE Fo Liigy dlads
MD612 CONTACT TIP 1.2 mmM6*28 ecu Woass MY*PA LEmm JjU
MD610 CONTACT TIP 1.0mmM6*28 ecu Jaasa My *PA 1emm JjU
5 MD608 CONTACT TIP0.8 mm M6*28 ecu o0 My*PA o Amm JjU
MD610AL S CONTACT TIP1.0mm M6*28al Pouisag)l MY *PA Lomm JjU
MD612AL CONTACT TIP 1.2 mmM6*28al Pguisagll MY *PA LFmm JjU
MD610CR CONTACT TIP 1.0mmM6*28 cr s pgS M *EA Lomm JjU
3 BG2502 o CONTACT TIP SOCKET oo JjU bl
4 BG2501 N NOZZLE SPRING PO diyS puu 1i6
P | _
5 BG2500 & MIGTORCHHEAD POo Sis lga diu)S
6 BG0OO10 B PLASTICBODY St lgm Syl als
7 BX25 L= TRIGGER Sao 295 wlis
8 BH10 ” YELLOW HANDLE KIT oS ok
9 BG0020 R FRONT SPRING CABLE SUPPORT b Ig diwo Gyb 118
10 BGOO51 )] BACK SPRING CABLE SUPPORT S g jgilaTold 18
BG2573 CABLE ASSEMBLY 3m ol PAo Sislgm JulS
1 BG2574 CABLE ASSEMBLY 4m ol P Sislgm IS
BG2575 CABLE ASSEMBLY 5m Gpind Pdo Sislga LIS

12 BA111 BACKBOXKIT Sis g jgilaT ol

BH40
BH42

3 PLASTIC EURONUT wSsiwlly 1ol Sdio oj0.0
METALEURONUT i U1 g loT LS og.0

14 BGO0O55 EURO CONNECTORAIR St g jgiloT

16 BO42 LINERNUT 9 Cuiy opp0
GM340
17 GM440
GM540

REDSTEELLINER 0.8-1.2 3.40m i P.o 0. A-LP joy8 8
REDSTEELLINER 0.8-1.24.40m Syio .10 0 ALY 1oy i
REDSTEELLINER 0.8-1.2 5.40m 650 0.0 0. A-LLP joyd 1i6

18 BH20 HANDLE RING s Sy

19 BH30 BALL JOINT diws Jrado

—==
15 BO41 = GAS ADAPTOR PIN 19laT 8 bl
[ e—

by g Ubgyd jy wilgiaso

a;;_\ g
1 hY \ y

SB15E SB36E SB 4000M BTIG18W CB150B ACCESSORY



BclHJOOSH

WELDING TORCHES
[CHA TS L —

S dagi 6 Biig = glgil 5l bl -
QUL 6303y SUbsil a8 b LT ool -
L gl slgo jl soliul g cuwlio Lol b Jdo
Glecuas

=bgyl slaojlasliwl b wowig ol b -
EN50078

=

4
2 g s |
1? &3 10
'IT 17 ‘IT} 15
<o
!
19
Attention Attention
Code — E
1.6 Kg
S e el e U @ SB36E3 3m  10ft
By sonco: BHosrznm B iemn s SB36E4 4m 13 ft
SB36E5 5m 16.4 ft EURO

u219:_>~9,9



NO

1

10

1

12

13

1

15

16

17

18

19

20

21

CODE

BG3605
MD816
MD812
MD810
MD808
MD812AL

MD816CR
MD812CR

MD612
MD610
MD608
MD610AL
MD612AL
MD610CR

BG3608

BG3606

BG3611
BG3601

BG3600

BGOO10

BX25

BH10

BG0020

BGOO51
BG3673
BG3674
BG3675
BA111

BH40
BH42

BGOO55

BO41

BO42
GM340
GM440
GM540

BH20

BH30

FIG

Cm

DESCRIPTION

GASNOZZLE
CONTACT TIP 1.6mm M8x30ecu
CONTACT TIP 1.2mm M8x30ecu
CONTACT TIP 1.0mm M8x30ecu
CONTACT TIP 0.8 mm M8x30ecu
CONTACT TIP 1.2mm M8x30al

CONTACT TIP 1.6mm M8x30cr
CONTACT TIP 1.2mm M8x30cr

CONTACT TIP 1.2mm M6x28 ecu
CONTACT TIP 1.0mm M6x28 ecu
CONTACT TIP 0.8 mmM#6x28 ecu
CONTACT TIP 1.0mm M6x28al
CONTACT TIP 1.2mm M6x28al
CONTACT TIP 1.0mm M6x28cr

CONTACT TIPSOCKETM8x30

CONTACT TIPSOCKETM6x28

CERAMICDIFFUSER
PLASTICDIFFUSER

MIGTORCHHEAD

PLASTICBODY

TRIGGER

YELLOW HANDLE KIT

FRONTSPRING CABLE SUPPORT

BACKSPRINGCABLE SUPPORT
CABLE ASSEMBLY 3m
CABLE ASSEMBLY 4m
CABLE ASSEMBLY 5m

BACKBOXKIT

PLASTIC EURONUT
METALEURONUT

EURO CONNECTORAIR

GAS ADAPTOR PIN

LINERNUT
REDSTEELLINER 0.8-1.2 3.40m
REDSTEELLINER 0.8-1.24.40m
REDSTEELLINER 0.8-1.2 5.40m

HANDLE RING

BALL JOINT

ubgaos [

wlehd

Ko Sislgm Uiigy dlaid

MAxFo Ly mm JjU
MAx¥o 1.Fmm JjU
MAxPo Iomdeb
MAxFo o, Amm JjU

pgriwagl MAxFo |.Fmm J;U
JI\.)[DQ)S MAxMo 1. mm Jju
JI\.)[DQ)S MAxMo 1.Fmm JjU

MyxFA L.FmmJ;u
M$xFA  1.omm JjU
My xFA o.Amm ;L
pguixog/l M¥xFA  l.omm JjU
pgriwagll M¥xPA 1P mm JjU
JL.)[\:Q)S M ¢ xPA |.ommdjl.i

MA F$o L_JJL’ b‘.’IJ

My H¢o L_JJL’ b‘.’IJ

75.1./.:__ I).LU V“'?OUS a s Jlg
Sy Yo (S ik 8

P o it lga disyS
Sz lga Sl GalS
CO2 Luwlis

3j Si> lgm diwo
S g diuwo Gy 4i9

St g jgiloTwld 4ig
Gpot PYo iz lgm (S
Grolt FYo Sis lgm (LIS
Grn®d HYo it Igm S

l_i.i_">|9.mJ9.'i___!|\.)TLTJl§

l_.,S.u.wu.ng.a_lL.)TuS.w.a 0400
iR U0 jgilol SSuiie op0 0

S Igm jglol
J5laTj5 byl

H8 iy 0400

Gpio .10 o A-1.F jo)8 18

Gyio .10 0. A-I.F jo,8 18
Gpio B0 0. A-LF jo,8 1ig

diws Sy

diwo Jsobo



SH

@
U BCHJOO

WELDING TORCHES
G——iig >z 3

9 o a5 Baiig > glg il gl Cuuliio -
T U5 s 4 jl pas

Uals UL 6133y Slbal ey LS L Ll olaiusl -
e cuaS b ddglolgo jloolatul g i = lib
EN50078 gl sl lailial b cuasig o lyb -

Attention

40 —_—
oy /,-3—4—5m l/-115m @

12Kg

FHINCON O N e
AODAMix 0.51.6mm 15 lit /min EN50078

Code
MEGA5003
MEGA5004
MEGA5005

H

G —
3m 10 ft
4m 13 ft
5m 16.4 ft

EURO



NO

~

10

1

12

13

A

15

16

17

18

19

20

CODE

ICS0457
MD292-16
MD292-12
MD292-10

ICFO975

MEO0423

ICNO50

ICZ0747

ICV0850-01

IHQ0186

ICV0850

BG0020

BGOO51
BG5073
BG5074
BG5075
BA111

BH40
BH42

BGOO55

BO41

BO42
GM0013-3
GMO0013-4
GM0013-5

BH20

BH30

SB15E

SB25E

SB36E

DESCRIPTION

GASNOZZLE
CONTACT TIP1.6mm M6 ECU
CONTACT TIP 1.2mm M6 ECU
CONTACT TIP 1.0mm M6 ECU

CONTACT TIPSOCKET

CERAMICDIFFUSER

INSULATOR

MIGTORCHHEAD

TRIGGER

SWITCH

HANDLE

FRONTSPRING CABLE SUPPORT

BACKSPRING CABLE SUPPORT
CABLE ASSEMBLY 3m
CABLE ASSEMBLY 4m
CABLE ASSEMBLY 5m

BACKBOXKIT

PLASTIC EURONUT
METALEURONUT

EURO CONNECTORAIR

GAS ADAPTOR PIN

LINERNUT
GRAY STEELLINER 1.0-1.6 3.40m
GRAY STEELLINER 1.0-1.6 4.40m
GRAY STEELLINER 1.0-1.6 5.40m

HANDLERING

BALL JOINT

ubgaos [

wlehd

Swigubl yivgy dled
Suigubll.ymm JjU
Swiguwbll.Pmm JjL
Saigubilyl.emm JjU

Suigulilb JjU byl

Swigubily Suelpu oS Ui j5
Sgull @il
Swigubl jal Qoo dinyS
Sigull z)g5 jo8 b
Suigully gaigugSeo
Siguulil BooSislgm diws
i lg s By i

it Igm g loT L6 18

6o B Sigubl BooA i Iga LS
6310 Siguslily BooA it Iga LS
6100 Siguulily BooA s> Igam LS

Sz lga jgiloT L6

L_.,S.n.n.mll.ug_n_ﬂ..ﬂu&ma 0400
iR U210 jgilol SSuiie op0 0

Jg_ubTJlS bgh

FEIEII

o .o l.o-l.¥ L_i.n_lg_wl.ll.ll_.rmgb)ﬁ
o .0 Lo-l.Y Suiguabl uwgh 5i8
o B.1% l.o-l.Y L_i.n_lg_wl.ll.ll_.rmgb)ﬁ

diws Sy

diwo Jsobo

SB 4000M

by g ubgyd jy wigiaso

N\

BTIG18W

CB150B



15

SB500E

WELDING TORCHES
&) Biig> Z)9—3

e (S ) Baiig > glgil ho wawlin -

o UL 603y BUamil e lB U luTooliil -

e S U ddglolgo jloolainl g ulio Lolib
EN50078 bl oo lasliasl Gabs casasi g oy -

13

Attention

1.65 Kg

“‘ /’SE I,- 1.5m 2:4 bar @

)@l ssoaco. ferd .. . _
500A Mix mm 0.8-1.6 mm 1.8 lit /min EN50078

Code
MEGA5003
MEGA5004
MEGA5005

A

<
3m 10 ft
4'm 13 ft
5m 16.4 ft

EURO



NO

10

1

12

13

15

16

17

18

CODE

BW0505
MD816
MD812
MD810
MD808
MD812AL
MD816CR
MD812CR
BW502

BGO513
BGO503

BW0500

BX25

Bh10

BG0020

BGOO51
BW5073
BW5074
BW5075
BA111

BH40
BH42

BW0525

BO41

BO42
GM342
GM442
GM542

BH20

BH30

SB15E

FIG

S

LAREE] Y LEEREERS

SB25E

DESCRIPTION

GASNOZZLE
CONTACT TIP1.6 mm M8x30 ECU
CONTACT TIP1.2mm M8x30 ECU
CONTACT TIP1.0mm M8x30 ECU
CONTACT TIP0.8 mmM8x30 ECU
CONTACT TIP1.2mm M8x30AL
CONTACT TIP1.6 mm M8x30CR
CONTACT TIP1.2mm M8x30CR

CONTACT TIPSOCKET

CERAMICDIFFUSER
PLASTICDIFFUSER

MIGTORCHHEAD

TRIGGER

YELLOW HANDLE KIT

FRONTSPRING CABLE SUPPORT

BACKSPRINGCABLE SUPPORT
CABLE ASSEMBLY 3m-EURROFITTING
CABLE ASSEMBLY 4m-EURROFITTING
CABLE ASSEMBLY 5m-EURROFITTING

BACKBOXKIT

PLASTIC EURONUT
METALEURONUT

EURO CONNECTOR-WATER COOLINGSTYLE

GAS ADAPTOR PIN

LINERNUT
STEELLINER 1.0-1.6 3.40m
STEELLINER 1.0-1.6 4.40m
STEELLINER 1.0-1.6 5.40m

HANDLERING

BALL JOINT

ubgaos [

wlehd

ol Si> T Uingy dlsis
MAxFo 1. mm JjU
MAxFo I.Pmm J;U
MAxHo Iomdeb
MAxHo o.Amm J;U
MAxHo 1.Fmm JjU

Jlo [ng)S l.ymm Jju
Jlo [ug)S I.Fmm Jju

Jjiw JjU by

oSelpw Uji 1S UlidejB
Sy Ui oS ideS

L_Jj_i._n_gat:h_i.ibt?ﬂ:l.io)j

Sao g5 ulis

3yj S ol diwo

S Ul diwo Gb 8
LSJDUTJQ_UL.)TU[SJ_.S

Jiw spio ¥ Si T LS degaso
Jiw Gpie It Sis OT B degasa
Ui Gpie ® Sis Ol S degaza

Sis ol giloTuld

L_.,S.n.n.mll.ug_n_ﬂ..ﬂu&ma 0400
iR U210 jgilol SSuiie op0 0

Jiiosgilol
Jg_ubTJlS bgh

FEIEII

)_'n'.n}"".}co |.o-|.$’dj_i._|_4 UhSQJ Ugdg).ié
)J.DF.FD lo-ls’d).u.l UhSQJ Ug\.L_J)JQ
)Jpa.}co |.o-|.$’dj_i._|_4 UhSQJ Ugdg).ié

X ‘;‘;\
b
-

SB36E

SB 4000M

diws Sy
diwo Jsobo
by g Ubgyd jy wigiaso
A\ \
-
BTIG18W CB150B



@
U BCHJOOSH

SB4000M

WELDING TORCHES

e (S ) Baiig > glgil ho wawlin -
LJuyl Trafimet LuuSlo sl z,95 b gl o lib -
EN50078 2Ug)l 6o lasiliasl §ub caswsi g ol -

Attention Attention

Code G — E
“‘ [ —-— ,r- P @ MEGA 5003 3m 10 ft
gggﬁa?; 1.0~ 1 z 1.6 m 6 litImin EN =575 MEGA 5004 4m 13 ft
MEGA 5005 5m 164 ft EURO




NO

10

1

il

13

14

15

16

17

18

CODE

BW4005
BW4005F

MD816
MD812
MD810
MD808
MD812AL
MD816CR
MD812CR
BW4002

BW4000
BW4000L

BW113

BX25

Bh10

BG0020

BGOO51
BW5073
BW5074
BW5075
BA111

BH40
BH42

BW4025

BO41

BO42
GM342
GM442
GM542

BH20

BH30

SB15E

FIG

o) e

TR ¥d |

=

SB25E

SB36E

DESCRIPTION

FIREPROOF INSULATION NOZZLE
FIBERGLASS INSULATION NOZZLE

CONTACT TIP 1.6mmM8*30 ECU
CONTACT TIP1.2mm M8*30 ECU
CONTACT TIP1.0mm M8*30 ECU
CONTACT TIP 0.8mm M8*30 ECU
CONTACT TIP1.2mm M8*30 AL
CONTACT TIP1.6mmM8*30CR
CONTACT TIP1.2mmM8*30CR
CONTACT TIPSOCKET

RIGHT MAXITORCHHEAD
LEFT MAXITORCHHEAD

PLASTICBODY

TRIGGER

YELLOW HANDLE KIT

FRONTSPRINGCABLE SUPPORT

BACKSPRINGCABLE SUPPORT
CABLE ASSEMBLY 3m-EURROFITTING
CABLE ASSEMBLY 4m-EURRO FITTING
CABLE ASSEMBLY 5m-EURRO FITTING

BACKBOXKIT

PLASTIC EURONUT
METALEURONUT

EURO CONNECTOR-WATER COOLINGSYLE

GAS ADAPTOR PIN

LinerNut

STEELLINER 1.0-1.6 3.40m
YELLOWSTEELLINER 1.0-1.6 4.40m
YELLOWSTEELLINER 1.0-1.6 5.40m

HANDLERING

BALL JOINT

utigaoy 3

wlehd

g Gale L MAXIL000 Si> LT gy dlsais
sllS 5l8 Gule L MAXIZ000 i LT gy dlsais

MA*Fo Lymm JjU
MA*Ho 1.Pmm JjU
MA*Fo l.omm JjU
MA*Fo o.Amm JjU
egxizog)l I.FMM JjU
JlopgyS LymmJju
JlopgyS LPmmJju
MAXI awSlo JjU bly

bl Gl S et S
ewSlo e Sis T dioS

Slo digyS uals

S zy93 ol

&) S Ol diawo

S Ol diawo Wyb 48

S il jgiglolold i8

uSlo spio M Sis LT LB degaxo
uSlo spio &4 St Ul S degaxo
wuSlo 5pin 5 Sis Ul LS degaxo
S gilalold

Sl gilol Suio 000
G Ul jgilol SSiie 000

S P KT
1919155 By

TR

o P Lo-1.% 3)j i
Jin k.10 Lo-1.% 3)j i
Fio .o lLo-L.Y vjj i8

diwo Sy

-
)
-

SB 4000M

BTIG18W

\

CB150B



